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Grade 11                               Test - 2  – Sequences & Series                                          



Name:_________________






Marks : 25











Time : 50 min

Answer the following questions :-

1.
A National Lottery is offering prizes in a new competition. The winner may choose one of the following.


Option one:
$500 each week for 20 weeks.


Option two:
$100 in the first week, $150 in the second week, $200 in the third week,

increasing by $50 each week for a total of 20 weeks.

Option three:
$5 in the first week, $10 in the second week, $20 in the third week

continuing to double for a total of 11 weeks. 

(a)      Calculate the amount you receive in the tenth week, if you select

(i)
option two.

(ii)
option three.








[6]








(b)
What is the total amount you receive if you select option two?


[3]
(c)
Which option has the greatest total value? Justify your answer by showing all appropriate calculations. 








[3]
2.
On Rahul’s 21st birthday he was given an allowance from his parents. He was given the following choices.


Choice A
$50 every month of the year.
Choice B
A fixed amount of $550 at the beginning of the year, to be invested at an                       interest rate of 12% per annum, compounded monthly.
Choice C
$35 the first month and an increase of $5 every month thereafter.
Choice D
$40 the first month and an increase of 5% every month. 

(a)
Assuming that Rahul does not spend any of his allowance during the year, calculate, for each of the choices, how much money he would have at the end of the year.  

[11]    

(b)
Which of the choices do you think that Rahul should choose? Give a reason for your answer.
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